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Calculus 2.

Second Exam

Date: Sunday 25/1 /1434 H.
Time: from 18:00 to 19:30.
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The Unit Circle

1
sinmx sinnx = 7 [cos(m — n)x — cos(m + n)x] cos26 = 1+ cos26
2
1 —
sinmx cosnx = - [sin(m — n)x + sin(m + n)x] sin0 = 1—cos26
2

1 . _ .
cosmx cosnx = - [cos(m — n)x + cos(m + n)x] sin26 = 2sin 6 cos®

[ =g (5)+e f—\%:““_l(g)”




[cos?x dx =
A | (B)
2 4 2 4
(©) (D) .
x _ cos(2x) L x  sin(2x) i
2 4 2 4
(E) |
x sin(2x) +e
4 4
Q2.
[ sin(5x) sin(3x) dx =
Ol | ® |
sin(2x) n sin(8x) +e sin(2x)  sin(8x) i
4 8 4 16
(©) (D)

sin(2x) n sin(8x) s
2 8

sin(2x) n sin(8x) i
4 16




Q3.

[tan3x sec®x dx =
(A) 7 5 (B) 4 4 (C) 7 3 (D) 5 3
Secx_secx-l_c tan®x Secx+c Secx_secx-l_c tan°x tanx+c
7 5 4 4 7 3 5 3
Q4.
N
P e =
(A) (B)
V9—x2 _x
— sin (§)+c 9 —x2 x
— — sin™? (—) +c
X 3
(©) (D)
V9—x2 _x VI9+x2 L x
+ sin (—)+c — sin (—)+c
X 3 X 3




Q5.

1 —
| =
(A) (B)
sin~!(x) + ¢ cos™1(x) +c
(C) (D)
Injx —Vvx2—-1|+c Injx +Vvx?2—-1|+c
Q6.
x —
f\/xz +100 dx =
(A) (B)
—Vx24+100 +c Vv x2+100 i
10
(©) (D)
vV x% 4100 +c _V102+x2_ta -1 (E)“




Q7.

1
| e ™

(A) , (B) ,

In|==| +c In|Z=| +c
(®) (D)

In|x — 3| +In|x — 2| +c ln|E|+c

—
Q8.
1
fxz 9—x? dx=

(A) (B) (®) (D)

V4 — x? V9 — x2 V9 — x? V9 — x?

- +c +cC - +C - +cC
9x 9x 9x X
Q9.
1
| x =
(A) (B)
x+1 x+1
cos™1( > )+ ¢ —sin™1( )+ c
(©) (D)
x+1 x+1
sin™1( > )+ ¢ sin™1( 3 ) +c




(A) (B)
11 |x + 2| 4 1 N
e I P In|==| -~ +c
(©) (D)
e e P S —lnw——+c
4 X 2x
Ql1.
1+cosx
fcosz(x) o
(A) (B)
tanx + In|secx — tanx| + ¢ tanx + In|secx + tanx| + ¢
(©€) (D)

tanx — In|secx + tanx| + ¢

—tanx + In|secx + tanx| + ¢




Q12.

(A)
%tan‘1 (xi) +c

(B)

2 . g (.2
gsm xz2)+c

(©)

In(1+x3)+c

(D)

tan~1(x3) + C

(E)

gtan‘1 (xE) +c

Q13.
er
fex_ldx =
(A) (B) (®) (D)
e —In(e*+1)+c e*+In(e*+1)+c e*+Inle*—-1|+¢ e*—Inle*—=1|+¢

Q14.
floo 19 dx=

x3

(A)

(B)

(€)

(D)

Divergent




Q15.

e 1
fl x YInx dx
(A) (B) (C) (D)
Divergent 2 3 4
3 4 3
Q16.
3x%2—x+5
f x(x2+5) B
(A) (B) )
In|x3 + 5x| —tan"1(==) + ¢ 3 e D
75 In|x® + 5x| +\/§tan (\/E) +c
(©) (D)
In|x3 — 5x| — itan‘l(i) +c 1
V5 V5 In|x3 + 5x| — —tan_l(i) +c

V5 V5




Q17.

Use the formula

f can-ly u?+1 -ty —
utan™u = ———tan"lu — o +¢
To evaluate
fx5 tan"1(x3)dx =
(A) 6 3 (B) 6 3
P lan 1) - Z 4 ¢ Pl an 13 - E 4 ¢
6 6 3 6
(9) . . (D) . .
P an 1) - E 4 ¢ Pl an 1) + S+ ¢
6 6 6 6
Q18.
1
fx_%dx =
(A) (B)
3 2 3 2
—lnx3+1|+c —lnx3—1|+c
2 2
(C) (D)

§1n|§/§— 1| +c

%1n|§/§+ 1| +c




Q19.

The area of the region enclosed by the parabola y = x? and the line y = x
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Q20. The volume of the solid obtained by rotating the region
bounded by the curves y = x? and y = +/x, about the x-axis is
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